MOUNTING INSTRUCTIONS « INSTRUCTIONS DE MONTAGE ¢« MONTAGEANLEITUNG ¢ ISTRUZIONI DI MONTAGGIO ¢ INSTRUCCIONES DE MONTAJE

Stay Kit Soft ABS Side Cases MT-09 Tracer

2PP-FSSST-00-00

Posnr., QTY Posnr.| QTY
@ | 2 2 f——
e
@ | 2 | 4 M6
‘ 2
® | 2 L&R
- @ | 4 M8 x 16 mm
@ | 4 - 4x10mm 4 ds4
® | 2 a9 | 4
4 M8 x 12 mm
® | 2 @ | 2 o
“ L&R
jLer| | @ | 4 W  wex2omm
@ | 2 @ | 4 o | d6,4
L&R 4 -
2 2 ® « ¢
® | 2 W M6 x 35 mm 4 N M8 x 70 mm
6 ‘ Lk
@ | s N M x 35 mm @ | 2 ‘
@ | 4 ™ s 2 O
@ | s & M6 2 L

12.MAI 2015




MOUNTING INSTRUCTIONS « INSTRUCTIONS DE MONTAGE * MONTAGEANLEITUNG e« ISTRUZIONI DI MONTAGGIO ¢ INSTRUCCIONES DE MONTAJE

Stay Kit Soft ABS Side Cases MT-09 Tracer

2PP-FSSST-00-00




MOUNTING INSTRUCTIONS + INSTRUCTIONS DE MONTAGE * MONTAGEANLEITUNG + ISTRUZIONI DI MONTAGGIO « INSTRUCCIONES DE MONTAJE

Stay Kit Soft ABS Side Cases MT-09 Tracer

2PP-FSSST-00-00




MOUNTING INSTRUCTIONS ¢ INSTRUCTIONS DE MONTAGE ¢« MONTAGEANLEITUNG ¢ ISTRUZIONI DI MONTAGGIO ¢ INSTRUCCIONES DE MONTAJE

Stay Kit Soft ABS Side Cases MT-09 Tracer

2PP-FSSST-00-00




MOUNTING INSTRUCTIONS « INSTRUCTIONS DE MONTAGE * MONTAGEANLEITUNG ¢ ISTRUZIONI DI MONTAGGIO ¢ INSTRUCCIONES DE MONTAJE

Stay Kit Soft ABS Side Cases MT-09 Tracer

2PP-FSSST-00-00




MOUNTING INSTRUCTIONS « INSTRUCTIONS DE MONTAGE + MONTAGEANLEITUNG ¢ ISTRUZIONI DI MONTAGGIO ¢« INSTRUCCIONES DE MONTAJE

Stay Kit Soft ABS Side Cases MT-09 Tracer

2PP-FSSST-00-00

Relia‘se/

e

| Max 130 km/h (80 Mph)

okv okV



MOUNTING INSTRUCTIONS + INSTRUCTIONS DE MONTAGE ¢« MONTAGEANLEITUNG ¢ ISTRUZIONI DI MONTAGGIO « INSTRUCCIONES DE MONTAJE

Soft ABS Side Cases - Maintenance Instructions

For: 2PP-FSOSC-XX

Open the
Zipper.




	Kofferhalter Yamaha
	Scan(2015-8-7)0001
	Scan(2015-8-7)0002
	Scan(2015-8-7)0003
	Scan(2015-8-7)0004
	Scan(2015-8-7)0005
	Scan(2015-8-7)0006

